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Graph the following exponential function and describe its transformation from the graph g(x) =

log,x. State the domain and range. 4= ‘ ‘
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2. You deposit $1800 in an account that earns 6.4% annual interest. Find the time it takes to double
the amount if the interest is compounded quarterly. /= o 3o = | §0D (/_;. 0et\HE

= N 3

bz ﬂ{ (016

3. Simp]ify: 28°% - §g~0% - 5g2E—8
39( 2x-3

3 X
HLOOL) ~F Flr010)
‘f 3 3 e?,a
4. Graph the following function and describe its transformation from the graph y =log,x . AJlso

state its domain and range. az=| D %> -] ( f/
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Rewrite the following in cither exponential form or logarithmic form.
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Evaluate the logarithmic functions without a calculator. No decimal answers.
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Simplify the following using inverse properties. No decimal answers.
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8. Ingl—ﬁ' = dj

9. logs 27% —e"™ +log, 16 10. log 4 647
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Evaluate the following logarithmic expressions using

log4 = 0.602 and log 7 ~ 0.845.
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Expand the following expression:
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l!ondense the following expressmn
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Evaluate the following using the change of base formula. Give the exact solution.
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Solve the following exponential equations. Round to 2 decimal places.
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17. How long would it take for $5000, invested in an account earning 7% compounded continuously, to earn $1000 in
mterggt? Totel of (80D s He af,cnnn'f@ Z; = Fe.rf
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Solve the following logarithmic equations. o7 0%

Round to 2 decimal places. @
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Simplify:
7Y (x-§) = 0
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21. Condense: log; 6x — 3l0gzc23ﬂ+ log, 24 — log, 3z
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22. You want to have $1000 in your savings account. Find the amount that you should deposit if the account

pays 4% annual interesf ::)ver a period of 5 years. (060 = P ( / +.0“f) 5 £
r=.09 £5 t=s (000 = F: 5'2"61
= P ngieisas) Lt




